Chapter 3 review

Student: ___________________________________________________________________________

1. When economists describe "a market," they mean: 
A) A place where stocks and bonds are traded
B) A communication network that allows individuals to keep in touch with each other
C) A hypothetical place where the production of goods and services takes place
D) A system that allows buyers and sellers to interact with one another

 

2. A market demand schedule for a product would indicate that: 
A) As the product's price falls, consumers buy less of the product
B) As buyers' incomes rise, they will buy more of the product
C) If buyers demand more of the product, then its price would rise
D) There is an inverse relationship between price and quantity demanded

 

3. Which is consistent with the law of demand? 
A) A decrease in the price of tacos causes no change in the quantity of tacos demanded
B) An increase in the price of pizza causes an increase in the quantity of pizza demanded
C) An increase in the price of hamburgers causes a decrease in the quantity of hamburgers demanded
D) A decrease in the price of turkey sandwiches causes a decrease in the quantity of turkey sandwiches demanded

 

4. The demand curve is a representation of the relationship between the quantity of a product demanded and: 
A) Supply
B) Wealth
C) Price
D) Income

 

5. Which statement best illustrates the concept of diminishing marginal utility? 
A) If the price of hamburger declines, there will be a change in consumer tastes in favor of hamburger
B) A typical consumer will receive less satisfaction from consuming hamburgers than from consuming pork
C) A typical consumer will receive less satisfaction from consuming the fourth hamburger per week than the third hamburger per week
D) A decrease in the price of hamburger will cause consumers to buy more hamburger because they have, in effect, received an increase in income

 

6. Graphically, the horizontal sum of all individual demand curves is known as: 
A) Consumers' tastes and preferences
B) The market demand curve
C) The equilibrium price
D) Consumer sovereignty

 

 The table below shows the demand for wheat in a market where there are just three buyers.
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7. Refer to the above table. At a price of $6, the market demand for wheat is: 
A) 17
B) 24
C) 37
D) 49

 

8. Which is a determinant of the demand for housing? 
A) The price of lumber
B) Wages for electricians
C) The price of housing
D) Changes in the expected future price of housing

 

9. Which would be a likely cause of an increase in the demand for pizza? 
A) A reduced desire for take-out and fast-food dining
B) A decrease in the price of hamburger sandwiches
C) A decrease in the prices of cheese, pepperoni, and mushrooms
D) A health report showing eating pizza reduces stress

 

10. Which will not cause a change in the demand for product A? 
A) A change in consumer preferences
B) A change in the price of A
C) A decline in consumer incomes
D) A decrease in the price of close-substitute product B

 

11. If product Y is an inferior good, a decrease in consumer incomes will: 
A) Make buyers want to buy less of Product Y
B) Not affect the sales of product Y
C) Shift the demand curve for product Y to the left
D) Shift the demand curve for product Y to the right

 

12. For most products, purchases tend to fall with decreases in buyers' incomes. Such products are known as: 
A) Inferior goods
B) Direct goods
C) Average goods
D) Normal goods
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13. Refer to the above diagram, which shows three demand curves for coffee. Which of the following would cause a shift in coffee demand from D1 to D2? 
A) A decrease in the price of tea
B) An increase in consumer incomes
C) An increase in the prices of cream and sugar
D) A decrease in the price of coffee

 

14. Refer to the above diagram, which shows three demand curves for coffee. Which of the following would cause a shift in coffee demand from D1 to D3? 
A) A decrease in the price of tea
B) A scientific report stating that coffee improves memory
C) A decrease in the prices of cream and sugar
D) A technological improvement in the production of coffee

 

15. Which would cause an increase in the demand for product A? 
A) A decrease in the price of product A
B) A decrease in the price of a complementary product B
C) A decrease in the cost of producing product A
D) A decrease in the price of a substitute product B

 

16. If the price of gasoline increases and car dealers suffer a decrease in demand for sport utility vehicles, then gasoline and sport utility vehicles are: 
A) Substitutes
B) Complements
C) Inferior goods
D) Unrelated goods

 

17. All of the following would affect the position of the demand curve for personal computers, except the: 
A) Price of computer software
B) Size of the population
C) Price of personal computers
D) Expected future price of personal computers
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18. Refer to the above graph with three demand curves. An increase in quantity demanded would be illustrated by a change from: 
A) Point 4 to point 6
B) Point 2 to point 1
C) Point 4 to point 1
D) Point 2 to point 5

 

19. An "increase in the quantity supplied" suggests a: 
A) Rightward shift of the supply curve
B) Movement down along the supply curve
C) Movement up along the supply curve
D) Leftward shift of the supply curve

 

20. Suppose that a more efficient way to produce a good is discovered, thus lowering production costs for the good. This will cause a(n): 
A) Increase in supply, or a rightward shift of the supply curve
B) Decrease in supply, or a leftward shift of the supply curve
C) Increase in quantity supplied, or movement down the supply curve
D) Decrease in quantity supplied, or movement up the supply curve

 

21. Which would cause a rightward shift in the supply curve for telephone service? 
A) A decrease in the wages of telephone workers
B) An increase in the price of telephones
C) An increase in the taxes paid by telephone companies
D) A decrease in a subsidy given to telephone companies

 

22. All of the following would affect the position of the supply curve for cranberries, except the: 
A) Popularity of cranberry drinks
B) Price of agricultural land for cranberries
C) Cost of fertilizers for cranberry production
D) Development of a new pest control for cranberries
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23. Refer to the above diagram, which shows three supply curves for corn. Which of the following would cause the change in the supply of corn illustrated by the shift from S1 to S2? 
A) An increase in the price of fertilizer
B) A change in consumer tastes away from cornbread
C) A decrease in consumer incomes
D) The development of a more effective insecticide for corn rootworm

 

24. A fall in the price of milk, used in the production of ice cream, will: 
A) Decrease the supply of ice cream, causing the supply curve of ice cream to shift to the left
B) Increase the supply of ice cream, causing the supply curve of ice cream to shift to the right
C) Cause a downward movement along the supply curve of ice cream
D) Have no effect on the supply of ice cream
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25. Refer to the above graph. An increase in the quantity supplied, other factors constant, would best be reflected by a change from: 
A) Point 5 to point 1
B) Point 4 to point 5
C) Point 1 to point 6
D) Point 3 to point 4

 

26. There is a surplus in a market for a product when: 
A) The price is set above the equilibrium level
B) Competition is driving the price higher
C) Supply is more than demand
D) Quantity demanded is more than quantity supplied

 

27. A market for a product is in equilibrium when: 
A) Product price equals demand
B) The supply curve remains fixed
C) Quantity supplied equals quantity demanded
D) Supply is equal to the price
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28. Refer to the above diagram. The equilibrium price and quantity for milk in this market are: 
A) $1.50 and 28 million gallons
B) $1.50 and 30 million gallons
C) $2.00 and 20 million gallons
D) $1.00 and 35 million gallons

 

29. Refer to the above diagram. If the price were $2 per gallon, there would be a: 
A) Shortage of 8 million gallons
B) Shortage of 10 million gallons
C) Surplus of 10 million gallons
D) Surplus of 8 million gallons

 

30. Refer to the above diagram. If the price were $1 per gallon, there would be a: 
A) Shortage of 27 million gallons
B) Shortage of 35 million gallons
C) Shortage of 7 million gallons
D) Shortage of 8 million gallons
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31. Refer to the above table. At a price of $15 per unit, which of the following would exist? 
A) A shortage of 1,600 units
B) A surplus of 1,000 units
C) A shortage of 1,000 units
D) A surplus of 600 units

 

 Assume that the graphs show a competitive market for the product stated in the question.
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32. Select the graph above that best shows the change in the market specified in the following situation: In the market for chicken, when the price of a substitute, such as beef, decreases. 
A) Graph A
B) Graph B
C) Graph C
D) Graph D

 

33. Select the graph above that best shows the change in the market specified in the following situation: In the market for houses, when consumers experience a substantial fall in income due to a serious economic recession. 
A) Graph A
B) Graph B
C) Graph C
D) Graph D
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34. Refer to the above graph, which shows the market for bicycles. S1 and D1 are the original supply and demand curves. D2 and D3 and S2 and S3 are possible new demand and supply curves. Starting from the initial equilibrium (point 1), what point on the graph is most likely to result from the introduction of technological improvements in bicycle assembly, and successful publicity campaigns by the government on the virtues of bicycling to work? 
A) 3
B) 4
C) 5
D) 6

 

35. What is the likely effect on the market for wine of a simultaneous increase in both consumer incomes and producer taxes on wine? 
A) An increase in both price and quantity
B) An increase in price and a decrease in output
C) A decrease in price and an indeterminate effect on quantity
D) An increase in price and an indeterminate effect on quantity
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